Brake cylinder Small bore size/swaging
Double acting/double acting/with valve for brake

JSK2/JSK2-V series

o |
~_LCR |

— @ Bore size: 820/025/032/340
T @ Double acting

JIS symbol

S e = @ o
STG

STS/STL
STR2

UCA2 e :
—uiks ~ Specifications

s fiem

JSG

~ISC3USCd | Bore size mm 220 825 232 240 220 225 232 240
~ ussD | Actuation Double acting Double acting/with valve
UFCD | Working fluid Compressed air
% Max. working pressure  MPa 1.0 (=150 psi, 10 bar) 0.6 (=87 psi, 6 bar)
~ JSB3 | Min. working pressure MPa 0.35 (=51 psi, 3.5 bar) 0.35 (=51 psi, 3.5 bar)
LMB | Proof pressure  MPa 1.6 (=230 psi, 16 bar)
% Ambient temperature °C -10 (14°F) to 60 (140°F) (no freezing) -10 (14°F) to 50 (122°F) (no freezing)
" HCA | _[Brake section| M5 | Rc1/8 M5 | Rc1/8
—LBC | Port size -
_bL | Cylinder port Rc1/8 Rc1/8
% Stroke tolerance  mm *20( t0 200),34(200 to )
CAC-N | Working piston speed mm/s 50 to 500
~ UCACN | cushion Rubber cushion
% Lubrication Not required (use turbine oil class 1 1ISO VG32 if necessary for lubrication)
PCC Holding force N 186 431 431 765 186 431 431 765
~ SHC | Allowable absorbed energy J|  0.166 0.308 0.424 0.639 0.166 0.308 0.424 0.639

MCP

GLC
MFC
BBS
RRC . - .
~cre | Electrical specification for brake valve
—Rva" | item | JSK2-V-VALVE-KIT-
~4r. | Rated voltage (V) 100 AC(50/60 Hz) 200 AC(50/60 Hz) 24 DC
LN Starting current (A) 0.056/0.044 0.034/0.026 0.075
% Holding current (A) 0.028/0.022 0.017/0.013 '
ity Power consumtion (W) 1.8/1.4 2116 18
ShkAbs | Voltage fluctuation range +10%
% Thermal class Class B molded coil
W @*1 : 100/200 VAC caoil is available for 110/220 VAC (60 Hz).
—— @2 :Refer to “Pneumatic Valves (CB-023SA)” for details on valves (P5136 Series).
Ending
Stroke
B e 5] Standard stroke Max. stroke (mm) Min. stroke (mm)
ore size (mm
(mm) Without bellows With bellows |Without bellows | With bellows |
220
225 25/50/75/100/125/150
700 600 5 5
230 175/200/250/300
240

The min. stroke varies depending on the switch mounting method. Refer to the following table.

Min. stroke with switch (Unit: mm)

0+ 2 3
10 25 35 30 25 35 50 55 55 50 55

220

225 10 25 35 30 25 35 50 55 55 50 55
232 10 25 35 30 25 35 50 55 55 50 55
240 10 25 35 30 25 35 50 55 55 50 55

*1: Up to 3 switches can be mounted.

706 CKD



J S K2/ J S K2 'V Series

Specifications

Switch specifications %
@ 1-color/2-color LED ce
Proximity 2-wire| Proximity 2-wire Proximity 3-wire LCW
LCX
TOH/TOV T5H/T5V T8H/T8V STM
STG
o Pogenmatlecortler | Degiicated for programmable | For programmable controller, | For programmable | Programmable contoller For programmable STS/STL
Applications | For relay, compact relay IC circuit (no indicator STR2
solencid valve controller relay controller, relay lamp) for serial connecton controller, relay "UCAZ
Output method - NPN output| PNP output | NPN output | NPN output - ULK*
Pwr. supp. V. - 10 to 28 VDC - M2
Load voltage|85 to 265 VAC| 10 to 30 VDC |24VDCt10% 30 VDC or less 12124 VDC|100/110 VAC| 5112124 VDC | 1001110 VAC|12/24 VDC| 110 VAC 220 VAC | jso3504
Load current| 5 to 100mA 5to 20 mA (*3) 100 mA or less | 50 mA or less | 5to50mA | 7to20mA [50mAorless|20 mAorless| 5to 50mA | 7to 20mA | 710 10mA | USSD
. Red/green|Red/green Yellow |Red/green [Red/green o |\UFCD
Indicator LED LED LED LED No indicator LED usc
) ) LED LED | . LED LED LED ) ) us
lamp (Lit when ON) | (LitwhenON) | ) (Litwhen ON) | - ) ) (Lit when ON) lamp (Lit when ON)
(Litwhen ON) | (Lit when ON) (Litwhen ON) | (Litwhen ON) | (Litwhen ON) JSB3
Leakage | 1 mAaor less with LMB
100 VAC, 2mAor 1 mAor less 10 pAor less OmA LML
current | jegs with 200 VAC HCM
1m:33 | 1m18 | 1m:33 | 1m: 18 1m: 18 1m:33 | 1m: 18 1m: 18 1 m: 33 TE%*
Weight g| 3 m: 87 Im:49 | Im:87 | Im:49 3m: 49 Im:87 | Im:49 3m: 49 3 m: 87 CAC4
5m:142 | 5m:80 | 5m:142 | 5m: 80 5m: 80 5m:142 | 5m: 80 5m: 80 5m: 142 UCAC2
*1 : Refer to Ending Page 1 for detailed switch specifications and dimensions. CAC-N
*2 : Switches other than the above models, such as switches with connectors, are also available. Refer to Ending Page 1. UCAGN
*3 : The max. load current is 20 mA at 25°C. The current is lower than 20 mA if the operating ambient temperature around the switch is higher than 25°C. RCS2
(5to 10 mA at 60°C) RCC2
PCC
SHC
Cylinder weight ("gfg’
@ JSK2 (Unit: kg) [MFC
Product weight when stroke (S) =0 mm Switch |Switch rail +[Additional weight JEEES]
Basic (00) |Axial foot (LB)[Flange (FA)|Clevis (CA)|Clevis (CC)|Trunnion (TA) band weight| perS=10mm EFR{?;
220 0.67 0.82 0.73 0.82 0.68 0.72 Refer o the 0.005 0.01 RV3*
225 1.18 1.44 1.33 1.42 1.18 1.28 - 0.005 0.01 NHS
weightin theUse HRL
232 1.22 1.48 1.37 1.46 1.22 1.32 ) 0.009 0.02
this as a reference. LN
240 1.91 217 2.06 2.15 1.93 2.07 0.009 0.02 Hand
Chuk
@ JSK2-V (with valve) (Unit: kg) | ecknacue
ltem/mounting Product weight when stroke (S) = 0 mm Switch rail +|Additional weight [JEHAatEN.
: : : : - : : - FJ
Bore size (mm) \| Basic (00) [Axial foot (LB)|Flange (FA)|Clevis (CA)|Clevis (CC)|Trunnion (TA) band weight| perS=10mm o
220 0.72 0.87 0.78 0.87 0.73 0.77 Referfo th 0.005 0.01 SpdContr
erer to the JE—
225 1.23 1.49 1.38 1.47 1.23 1.33 0.005 0.01 i
weightin theUse [Ending
232 1.27 1.53 1.42 1.51 1.27 1.37 ) 0.009 0.02
this as a reference.
240 1.96 2.22 2.11 2.20 1.98 212 0.009 0.02
Product weight when S=0mm.................. 0.87 kg 100
Additional weight when S =100 mm...................ooei. 0.01x ——=0.1k
Example) JSK2-V-LB-20-100-2-TOH-D g 10
Weight of 2 switches.................coooii, 0.018%2=0.036kg
Weight of switch rail + 2 bands.................. 0.005%2=0.010kg
Product weight ............... 0.87kg+0.1kg+0.036kg+0.010kg=1.016kg
Theoretical thrust table (Unit: N)
Bore size |Operating Working pressure MPa
(mm) |direstion| 04 ] 05 | 06 | 07 | o8 | o8 ] 0 |
- Push 1.26 x10° 1.57 x10° 1.88 x10° 2.20 x 10° 2.51 x10° 2.83 x10° 3.14 x 10°
@
Pull 94.2 1.18 x10° 1.41 x10° 1.65 x 10° 1.88 x10° 2.12x10° 2.36 x 10°
. Push 1.96 x 10° 2.45x10° 2.95 x 10° 3.44 x10° 3.93x10° 4.42x10° 4.91x10°
@
Pull 1.51 x 10 1.89 x 10 2.27 x 10° 2.64 x 10° 3.02 x 10° 3.40 x 10° 3.78 x 10°
39 Push 3.22x10° 4.02x10° 4.83x10° 5.63 x 10° 6.43x 10° 7.24 x 10° 8.04 x 10°
[}
Pull 2.76 x 10° 3.46 x 10° 4.15x 10 4.84 x 10° 5.53 x 10° 6.22 x 10° 6.91 x 10
540 Push 5.03 x 107 6.28 x 107 7.54 x 10 8.80 x 10 1.01x 10° 1.13x10° 1.26 x 10°
Pull 4.41x10° 5.51 x 10° 6.62 x 10 7.72 x 10° 8.82 x 10° 9.92 x 10° 1.10 x 10°
CKD o7



J S KZ/J S K2 'V Series

% How to order @Wodel No.
=T ] N
. X o
__LcG | @ Without valve 5|2
LCW _ _ o . 258>
“cX | Without switch (built-in magnet for switch) kS| .g 23
o (JSK2 )-(1LB)-(20)()-(50) (D) | Code Description 88|52
T STS/STL| With switch (built-in magnet for switch) © Mounting
—aTR7 | - - - D) 00 |Basic e | o
o (USK2 )-1LB)-(20) () -(50)— [T -®R)-@) (D [ $re
ULK* . FA |Rod side flange e | o
wrr @ With valve for brake CA |Eye bracket o o
JSG Without switch (built-in magnet for switch) CC |Eye bracket integrated (K )
JSC3ISC4 _ - - - TA |Rod side trunnion [ K
USSD JSK2-V O @ @® TB |Head side trunnion e | o
UFCD With switch (built-in magnet for switch) © Bore size (mm)
usc
s (ISK2:V)-(LB)-(20)( )-(50)-(1)-T0H- R~ (D [“20 (020 oo
JSB3 25 [825 (K J
LMB 32 |32 o [ J
LI\(/:IL @® Mounting 40 |40 ® | o
HCM *
— oA | 2 ® Port thread
HCA | @ Model No.
LBC *q @ Port thread Blank |Rc thread
CAC4 NN |NPT thread (825 and over) (made-to-order product)
UCAC2 GN |G thread (925 and over) (made-to-order product)
—gon] @ Strokemm) |
UCACN ® Bore size @ stroke Stroke (mm) .
RCS2 ore size Stroke *3 Custom stroke
RCC2 220 5to 700
PCC 225 5 to 700 .
—SsHe | 232 5to 700 In 1 mm increments
MCP 240 5to 700
i
. Valve voltage
MFC
—BBs | @ Valve voltage 1 [100 VAC (50/60 Hz) ®
RRC 2 |200 VAC (50/60 Hz) [ J
GRC 3 [24VDC [
_ RV3" | © Switch model No
NHS i
HRL . _ © switch model No. Straight | L-shaped | 3 [Voltage| | ..o || ead wire
— . A&\ Precautions for model No. selection lead wire | lead wire | 5 |[AC[DC
Hand | *1 : Low hydraulic can also be supplied as made-to-order TOH* Tov* 8 ® ® | 1-colorLED 2-wire
Chuk product T5H* T5Vv* o| @ | @ | Noindicator lamp
_ Lhuk | & i
MecHnd/Chuk Model numbers are JSK2-H and JSK2-VH. T8H* T8V* ® | ® | 1-colorLED 2-wire
ShkAbs | *2 : For a TA mounting, the brake section with cover and T1H* T1V* [ ) 1-color LED 2-wire
FJ the clevis lbracket car\not be selected together since T2H* T2V* [ ) 1-color LED 2-wire
FK they may |n.terfere with e.ach ot.her. T3H* T3V* ™Y 3-wire
SpdContr | *3 : For the min. stroke with switch and the max. T3PH* T3PV* |2 ® | 1-color LED 3-wire
———— and min. strokes with bellows, refer to page 706. " 1 E
M *4 : The instantaneous max. temperature is the TZWH* TZWV* 5 L] 2-wire
temperature when sparks, cutting chips, etc., T2YH T2YV o L 2-color LED
instantaneously contact the bellows. T3WH* T3WV* [ ) 3-wire
*5 : “I” and “Y” cannot be selected together. T3YH* T3YV* [ )
*6 : Up_to three switches can pe installe(_j. If four or more T2JH* T2JV* [ Off-delay 2-wire
swtltcheslta;e reqwrctai, switch mguntlng btrellckets for the * Lead wire lenath
extra switches must be prepared separately.
*7 : For mounting TA (rod side trunnion), the option U (brake Blank |1m (stapdard) Ld LJ
section with cover) cannot be selected. 3 3 m (option) L L
5 5 m (option) (K J
, ® Switch quantity
[Example of model No.] GSL\:VéIItnCt?t R 11 on rod side o o
JSK2-V-LB-20-50-1- TOH-R-JI ?6 ¥ H |1 0n head side THID
Model: Brake cylinder with valve 2 g : :
@ Model No. : With valve
® Mounting : Axial foot © Ovtion © Option
@ Bore size 1920 mm N 4p Max. ambient temperature : Instantaneous max. temp
® Port thread : Re thread *7 J Bellows 100°C 200°C [ K )
@ stroke - 50 mm L Bellows 250°C 400°C o0
@ Valve voltage  : 100 VAC M |Piston rod material (stainless steel) [ K )
@ Switch model No.: Reed switch TOH, lead wire 1 m V  |Boss cutoff [ K )
@ switch quantity : 1 on rod side U |Brake section with cover [ K )
@ Option  Bellows © Accessory
Max. ambient temperature 100°C, o i—\sccessory I |Rod eye ®
instantaneous max. temperature 200°C Y |Rod clevis (pin, washer, split pin attached) D
@ Accessory “Rod eye B2 |Clevis bracket (pin, snap ring attached) [
s CKD



How to order switch

@ Switch body + mounting bracket set

Switch model No.
(Item © on page 708)

Bore size
(Item © on page 708)

How to order brake valve

J S K2/ J S K2 'V Series

How to order

@ Switch body only @ Mounting bracket set

@- Cuskz - T

Switch model No.
(Item © on page 708)

(USK2-V)-(VALVE-KIT ) - ( [ )
Code Description

How to order mounting bracket

Mounting bracket

Basic (00) *3

M1-00-20

@ Valve voltage 145 V/AC (50/60 Hz)

2 [200 VAC (50/60 Hz)

3 [24VDC

M1-00-30 M1-00-30

20

Bore size

(Item © on

page 708)
Mounting bracket

240

M1-00-30

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STS/STL
STR2
UCA2
ULK*
JSG
JSC3USC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC

Axial foot (LB)

M1-LB-20

M1-LB-30 M1-LB-30

M1-LB-30

RV3*

Flange (FA)

M1-FA-20

M1-FA-30 M1-FA-30

M1-FA-30

NHS

Eye bracket (CA)

M1-CA-20

M1-CA-30 M1-CA-30

M1-CA-30

HRL
LN

Trunnion (TA/TB)

M1-TA-20

M1-TA-30 M1-TA-30

M1-TA-40

Hand

*1 : As for mounting brackets, the axial foot and flange include mounting nuts and toothed washers, and the trunnion includes mounting nuts.
*2 : For axial foot, 2 sets of the above “M1-LB-*" are required.
*3 : Mounting nut, toothed washer only. Although 1 set is attached with the basic of the product (00), use this when needed.

CKD

Chuk
MecHnd/Chuk
ShkAbs

FJ
FK

[ SpdContr

Ending

709



J S KZ/J S K2 'V Series

% Material of mounting bracket
LCG
% LB Steel Zinc chromate
STG FA Steel Zinc chromate
STSISTL | TA/TB Steel Zinc chromate
_ STR2 | ca Steel Zinc chromate
UCA2
ULK* | Note: Mounting bracket will be shipped with the product.
JSK/IM2 However, if the product is supplied with bellows and the mounting bracket is LB, FA, or TA, it will be shipped assembled.
JSG
JSC31SC4
~ Ueep  Internal structure and parts list
% @ JSK2-V (with valve and switch)
©JsSB3 | @ JSK2 (with switch)
LMB
LML 6
__HCM_| 0% 10 9 6
HCA
LBC
CAC4 =
000 | " B lL I
UCAC2 i P
CAC-N .
UCACN ’9\(
RCS2 //"\\ v
RCC2 ¢ @2 } g ice 2 )]
PCC { K\M/ ] @
__SHC_| 1 © 8 ol (
MCP g D) 0
GLC
MFC
BBS
RRC
GRC
RV3*
% Note: This product is a caulked and cannot be disassembled.
LN
Hand
Chuk
MecHnd/Chuk
ShkAbs
R .
FK Cannot be disassembled
-~ Parts list
Ending
No. |Part name Material Remarks No. |Part name Material Remarks
1 |Rod nut Steel Zinc chromate 18 [Hex socket screw |Steel Black finish treatment
. 220/@25 stainless steel . . 19 [Hex socket screw |Steel Black finish treatment
2 |[Piston rod Industrial chrome plating
932/940 steel 20 |Brake spring Steel Black finish treatment
3 |Scraper Nitrile rubber 21 |Brake shoe metal|Cast iron
4 |Brake body Cast iron Zinc chromate 22 |Bush Dry bearing
5 |Brake piston Copper alloy casting 23 |Ring Steel
6 |Piston packing |Nitrile rubber 24 |Rod packing Nitrile rubber
7 |Lever Steel Zinc chromate 25 |Fixed ring Steel Zinc chromate
8 |Valve for brake release |--- P5136MO 26 |Square flange Steel Zinc chromate
9 |Rod cover Aluminum alloy 27 |Hex socket screw|Steel Black finish treatment
10 |Cylinder tube Stainless steel 28 |Piston A Aluminum alloy
11 |Cushion rubber |Urethane rubber 29 [Magnet Plastic
12 |Piston packing  |Nitrile rubber With switch
13 [Wear ring Acetal resin 30 |Switch body -—-
14 |Piston B Aluminum alloy 31 [Band Stainless steel
15 |Spacer Steel Zinc chromate 32 |Pan head machine screw|Stainless steel
16 |[Hexagon nut Steel Zinc chromate 33 |Switch rail Stainless steel
17 |Head cover Aluminum alloy
o CKD




J S K2 'V Series

Double acting/with valve for brake

Dimensions [Lcm
LCR
@ Basic (00) ILCG
LCW
X + stroke LCX
A WF LL + stroke \Y ST™M
50 C BA BB + stroke K STG
BL QMM‘ BC, BD s7,, | STSISTL
BU BS_ | BE |16 GC 305 30.5 GD16 'STR2
=1l | EE RD HD "UCAZ
T M5 8 8 ULK
2-Rc1/8
of —\ | JSKIM2
= z - [ H( 8 JSG
o Of o v ' i JSC31SC4
@ @% ] 4 e w USSD
% AL el § vreD
KK s — (UFCD
MB — usc
Width Across Flats B m BG 0 0 MB us
BH >
BP XF XE + stroke JSB3
LMB
LML
HCM
HCA
WF +1¢ X1+ stroke
Ab LBC
‘ CAC4
W UCAC2
- ’_f CAC-N
8 =L UCAC-N
- RCS2
XF +¢ RCC2
[With bellows] XE1+ stroke PCC
I ellows
[Boss cutoff type] f/llécé
GLC
MFC
BBS
RD: Rod side max. sensitivity position RRC
HD: Head side max. sensitivity position GRC
*1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches. RV3*
*2 : The size of the exhaust port of brake section is the same as that of EE. INHS
*3 : tdimensions should be rounded up to the nearest whole number. '"HRL
*4 : For the dimensions of the accessories, refer to page 731. N
_ Basic (00) basic dimensions Hand
- Chuk
[Boresize(mm) \|_A_| B | BA| BB | BC | BD | BE[BG[BH|BL[BV|BN]BO|BP|BR]|BS|BU| C | D [
220 20 13 58 66 9 30 19 5 29 34 55 38 19 38 29 4 3.8 18 | 214 [ghkabs
225 23 17 67 69 9.5 | 385 19 6 39 42 66 45 22 43.8 | 34.5 7 7 20 264 |FJ
232 23 17 67 69 9.5 | 385 19 6 39 42 66 45 22 43.8 | 345 7 7 20 336 |FK
240 25 19 74 73 8 48 18 8 50 50 | 80.5 | 55.5 | 25 52 | 39.5 7 7 22 | 416 M
m With switch (10,75, 72,73 [
[Boresiamm) \[_EE | F | K | KKk [ L] W8 _Jww] 7 ] V] Wr] X [ XE] XF | 6c]GD [ RD] HD
220 M5 28 12 M8x1.0 124 | M18x1.5 10 5 14 24 182 | 138 | 44 40 | 3.0 8.0 | 7.0
825 Rc1/8 32 14 | M10x1.25| 136 | M26x1.5 12 6 16 23 198 | 152 | 46 55 | 45 | 95 | 85
832 Rc1/8 36 14 | M10x125 | 136 | M26x1.5 12 6 16 23 198 | 152 | 46 55 | 45 | 95 | 85
240 Rc1/8 45 14 M12x15 | 147 | M26x 1.5 14 7 16 23 211 | 163 | 48 75 | 65 | 115 | 105
m With switch (T2W, T3W) With bellows Boss cutoff type
(Bore sizefmm) \[ GC | GD [RD [ WD | P [ P P ] b [a ] ¢ | XEl
220 6.0 | 50 | 10.0 | 9.0 | 17.3 | 195 | 22 30 | 30 (Stroke/3) + 6 168 124
225 7.5 6.5 | 1.5 | 10.5 || 19.8 | 22.0 18 32 46 (Stroke/3.25) + 7 182 136
232 7.5 65 | 1.5 | 105 243 | 25.5 15 32 46 (Stroke/3.25) + 7 182 136
240 9.5 85 | 135|125 | 28.3 | 29.5 12 34 46 (Stroke/3.25) + 7 195 147
CKD



J S K2 'V Series

__LcM_ Dimensions
LCR

__LCG | @ Axial foot (LB)

LCW
LCX
STM LA + stroke

ST | 230 . A, WF LL + stroke v
STSISTL BL C,| BA BB + stroke
STR2 BU MM BC BD 37 ‘

T BS BE |16 GC 30.5 30.5 GD16
UCA2 P1
JSKIM2 I 77 2-Rc1/8
Hse B e ~OH@
JSC3USC4 | ~AB b =)

— | o - s S5 o - S :

~_USSD | o) o V [ 5l

SR 7\ sfe@ie || K= ‘

sy & e = M5 1T S

~UB | T Nia

— KK \ AN -
JSB3 '

_ doEd | Width Across =! - s
LMB = Fls B E " @]l Bc (0 19

LML | 44mB o -

HCM R LS B LG + stroke
HCA
LBC
UCAC2 b
CAC-N |
UCAC-N
RCS2
RCC2 N
PCC 8
SHC
MCP
GLC XF +¢
MFC .
~—BBS | [With bellows]
RRC
GRC
RV3*
NHS
HRL *1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches.
LN *2 : The size of the exhaust port of brake section is the same as that of EE.
Hand *3 : £ dimensions should be rounded up to the nearest whole number.
" Chuk | "4 :For the dimensions of the accessories, refer to page 731.
w Axial foot (LB) basic dimensions
hkAbs .

B o size (nm) \|_A | AB | B_| BA|BB|BC]|BD| | BN [BO[BR|BS|BU| C | D] EE |
FK 220 20 6 13 58 66 9 30 19 5 34 63 38 19 29 4 3.8 18 | 214 M5
SpdContr 225 23 7 17 67 69 95 |385| 19 6 42 75 45 22 | 345 7 7 20 | 26.4 Rc1/8
Ending 232 23 7 17 67 69 95 |385| 19 6 42 75 45 22 | 345 7 7 20 | 33.6 Rc1/8

240 25 7 19 74 73 8 48 18 8 50 (855|555 | 25 | 395 7 7 22 | 416 Rc1/8
‘ A |
220 28 26 15 M8x1.0 124 10 5 14 24 196 | 10 18 160 | 25 30 44 40 | 3.0 8.0
225 32 35 20 | M10x1.25 | 136 | 12 6 16 23 217 | 12 23 182 | 30 46 62 55 | 45 | 95
232 36 35 20 | M10x1.25 | 136 12 6 16 23 217 | 12 23 182 30 46 62 55 | 4.5 9.5
240 45 85] 20 M12x1.5 | 147 14 7 16 23 230 | 12 23 193 30 46 62 75 | 65 | 115
With switch (T2W, T3W)
220 7.0 | 6.0 50 [ 100 | 9.0 |[17.3 ]| 19.5| 22 44 30 30 (Stroke/3) + 6
225 85 | 75 | 65 | 115|105 19.8 | 220 | 18 46 32 46 (Stroke/3.25) + 7
232 85 | 75 | 65 | 115 (105|243 | 255 | 15 46 32 46 (Stroke/3.25) + 7
240 105 95 | 85 | 135|125 28.3 | 295 | 12 48 34 46 (Stroke/3.25) + 7
2 CKD



J S K2 'V Series

Double acting/with valve for brake

Dimensions [Lcm
ILCR
@ Rod side flange (FA) ILCG
X + strok Lew
Sstroke M~y
50 A WF LL + stroke \Y #
BL C \Y, BA BB + stroke K =
BC BD 37 = ISTG____
B pMM ‘ BS BE_|16 GC_30.5 30.5 GD16 | STSISTL
T 5 EE RD HD |STR2
8 8 UCA2
s ¢ LS 2Re1/8 ULK*
! 2 IR\ JSK/M2
z ‘ — x 2 JSG
Holg | /ﬁ\ O ; T E— JSCHISCA
) ol = .| 'ussD
¥/ oo S |UFCD
& Q KK - > USsC
Width Across T
‘ Flals B BG [0 10| MB e
FL ME e ain JSB3
M 4-gFD W FG + stroke TRV
LMB
LML
HCM
HCA
A WF +¢ X1+ stroke LBC
b | 16 CAC4
8 UCAC2
an CAC-N
UCAC-N
K RCS2
- - RCC2
PCC
XF +¢ FG1 + strok SHC
siroke Mep
[With bellows] 4J IMCP_
[Boss cutoff type] GLC
IMFC___
1BBS
|IRRC
|GRC
|[RV3™
*1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches. NHS
*2 : The size of the exhaust port of brake section is the same as that of EE. HRL
*3 : L dimensions should be rounded up to the nearest whole number. LN
*4 : For the dimensions of the accessories, refer to page 731. Hand
m Rod side flange (FA) basic dimensions 7&:Skhuk
Bore size (mm) \| A | B |BA|BB|BC[BD|BE[BG|BT|BLIBN|BO[BRIBS|BU|C | D|EE[F | K| ki JETISE.
220 20 13 58 66 9 30 19 5 55 34 38 19 29 4 38 | 18 | 214 | M5 | 28 12 | M8x1.0 FJ
225 23 17 | 67 | 69 | 95 |385| 19 6 67 | 42 | 45 | 22 |345| 7 7 20 [26.4 [Rc18| 32 14 [ M10x1.25 7?;0 t
on
232 23 17 67 69 | 9.5 (385 19 6 67 | 42 | 45 | 22 |345| 7 7 20 [33.6 |Rc1B8| 36 14 | M10x1.25 p:r
240 25 19 | 74 73 8 48 18 8 |[775| 50 [555| 25 |395| 7 7 22 [ 416 |Rc18 | 45 14 | M12x1.5 M
m Mounting dimensions With switch (T0, T5, T2, T3)
Boresize (mm) \| LL | _MB | MF[mm| T [V |W]wF| X |FclFD| FG |FH|FL[Fm[GC|GD|RD|HD|
220 124 | M18x1.5 | 3.2 10 5 14 | 208 | 24 182 | 20 6 141.2 34 40 54 40 | 30 | 80 | 7.0
225 136 | M26x1.5 | 4.5 12 6 16 [ 185 | 23 | 198 | 28 7 156.5 44 64 80 55| 45 | 95 | 85
232 136 | M26x1.5| 45 12 6 16 | 185 | 23 198 | 28 7 156.5 44 64 80 55| 45 | 95 | 85
240 147 | M26x1.5 | 4.5 14 7 16 | 185 | 23 | 211 28 7 167.5 44 64 80 75 | 6.5 | 11.5 [ 10.5
Code With switch (T2W, T3W) \With bellows Boss cutoff type
GC|GD|RD|HD[[XF| b | d e X1 FG1
220 6.0 | 50 [10.0| 9.0 | 44 30 30 (Stroke/3) + 6 168 127.2
225 75 | 65 | 115|105 46 32 46 (Stroke/3.25) + 7 182 140.5
232 75 | 65 | 11.5[105| 46 32 46 (Stroke/3.25) + 7 182 140.5
240 95 | 85 [ 135|125 48 34 46 (Stroke/3.25) + 7 195 151.5
CKD ms



J S K2 'V Series

__LcM_ Dimensions
LCR
_LCG | @ Eye bracket (CA) CAD
LCW - CA + stroke
% A_ WF LL + stroke GE
__STM | c_| v BA BB + stroke
__STG_| BC_ BD 37, CL | CM 50
_ STSTL o || | K BS BE 16 GC 30.5 30.5 GD 16 BL
_ STR2 | ™ EE RD HD BU
UCA2 >I4 Mb _ls 8 @CDh1o ~
ULK* ; I
2-Rc1/8 *3
JSKIM2 O 1@ 5 ﬁ [
JSG ad ‘ S : A
JSC3USCH . o ' ' Ok L
USSD ® A4 2 =11 = 5 S— 7@]* Ls
_ UFCD | KK 0
_usc N 0 ce ke
uB Width Across Flats B/ MB ~BG <
JSB3 CJ + stroke
LMB A WF +¢
LML b
HCM
HCA
LBC 3 -
CAC4
UCAC2
CAC-N XF +1
UCAC-N [With bellows]
RCS2
RCC2 | @ Eye bracket (CA) with bracket (option)
__PCC_| - CA + stroke
_ SHC | AL WE LL + stroke GE 50
'\6"7&? C,| Yl BA BB + stroke ~
T MEC | BC _ BD 37~‘ CL __CM BL
~ BBS | oMM K, BS BE716 GC 30.5 305 GD16 ‘ BU
" RRC | T EE RD HD cQs,
“GRC | M : B
- 2-Ret/8 *3
RV3 ~O-[©. ‘
NHS ' ;\( Q ‘ \
HRL H 1 HH -+ . [
—h sfeels | K= ] S - N\
Ncol < VS
Hand KK ‘Oi
Chuk | s M 0
VecHndlCnge | _Width Across Flats B /'y 1 TR CJ + stroke >
ShkAbs 7 B\
R 20 ¥ 020 | |20 [0
FK o758 40 \_4-slot 7 x 11 CR
SpdContr 55 Cs
Ending | *1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches.
*2 : The size of the exhaust port of brake section is the same as that of EE.
*3 : Itis not a piping port.
*4 : { dimensions should be rounded up to the nearest whole number.
*5 : For the dimensions of the accessories, refer to page 731.
m Eye bracket (CA) basic dimensions
Boresize(mm) \| A | B | BA|BB|BC|BD|BE|BG|BLIBM|BN]BO|BP|BRIBS|BU] C | D | EE | F [FC|GE]
220 20 | 13 | 58 | 66 9 30 | 19 5 34 | 55 | 38 | 19 | 38 | 29 4 |38 18 |214 M5 28 | 26 | 55
225 23 | 17 | 67 | 69 | 9.5 | 385 19 6 42 | 66 | 45 | 22 (438 |345| 7 7 20 [ 264 Rc1/8 32 | 35 | 62
232 23 | 17 | 67 | 69 | 9.5 | 385 19 6 42 | 66 | 45 | 22 [43.8|345| 7 7 20 |33.6 Rc1/8 36 | 35 | 62
240 25 |1 19 | 73 | 73 8 48 | 18 8 50 |80.5(555| 25 | 52 |395| 7 7 22 | 416 Rc1/8 45 | 35 | 62
m Mounting dimensions
Boresize o) \ K | KK [ L] W [wm] 7 | v [wr
220 12 M8x1.0 124 M18x 1.5 10 5 14 | 24 (223 14 | 10 | 10 | 193 | 31 24 | 22 8 48 | 68
225 14 M 10 x 1.25 135 M 26 x 1.5 12 6 16 | 23 244 | 18 | 12 | 12 (209 | 32 | 30 | 26 | 10 | 50 | 70
232 14 M10x 1.25 136 M26x 1.5 12 6 16 | 23 (| 244| 18 | 12 | 12 |209| 32 | 30 | 26 | 10 | 50 | 70
240 14 M12x1.5 147 M26x1.5 14 7 16 | 23 | 257 | 18 | 12 | 12 |220| 32 | 30 | 26 | 10 | 50 | 70
e
220 40 (3.0|80(|70(6.0|50(100|90] 44 | 30 | 30 (Stroke/3) + 6
825 5545|9585 75|65 | 115|105 46 | 32 | 46 (Stroke/3.25) + 7
232 5545|9585 75|65 | 115|105 46 | 32 | 46 (Stroke/3.25) + 7
240 75|65 |115| 105 95|85 | 135|125 48 | 34 | 46 (Stroke/3.25) + 7
s CKD



J S K2 'V Series

Double acting/with valve for brake

Dimensions [Lem
LCR
@ Eye bracket integrated (CC) CAD, ILCG
LCW
CA + stroke g)r)l\(A
A, _WE LL + stroke CM STe
c.| V. BA BB + stroke 50 T
BC _ BD 37 ‘ BL 'STRZ
oW || | K BS BE | 16 GC_30.5 30.5 GD16 BU |STR2
EE RD T |UCAZ
T M5 8 8| @CDh1o ULK*
7S p-Rc1/8 ok A o'y JSKIM2
BN LD a . © 4SG___
P | 2 — & > JSC31IS04
° ° . i USsD
7 *’r * B = r N é s @ 87 'UFCD
. KK B & usc
Width Across Flats B BG M 19 calec cas UB
CJ + stroke - u %
A { BP (=ve
Py LML
HCM
HCA
7 LBC
- |1=bb
s J CAC4
UCAC2
? CAC-N
[With bellows] UCAC-N
RCS2
RCC2
@ Eye bracket integrated (CC) with bracket (option) %
CA + stroke ep
MCP
A WF LL + stroke cM GLC
C B BA BB + stroke T
B L BD 37, (MFC___
o || | K BS|BE |16_GC_305 30.5 GD16 %
EE RD HD [ALA S
T Mi\ 8 8 GRC
) . S 2-Rc1/8 RV3*
OO q NHS
\/ > : HRL
° P . 7 LN
M M - — AN Hand
KK e H‘H@ K| Chuk
Width Across Flats B hOJ l(l w MecHnd/Chuk
BG ShkAbs
2] I
s 40 4-slot 7 x 11 FK
Ending
*1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches.
*2 : The size of the exhaust port of brake section is the same as that of EE.
*3 : { dimensions should be rounded up to the nearest whole number.
*4 : For the dimensions of the accessories, refer to page 731.
m Eye bracket integrated (CC) basic dimensions
Boresize (nm) \| A | B | BA|BB[BC|BD|BE|BG[BL|BM|BN[BO|BP|BR[BS[BU|C|D| EE |
220 20 13 58 66 9 30 19 5 34 55 38 19 38 29 4 38 | 18 | 214 M5 28
225 23 17 67 69 | 95 | 385 | 19 6 42 66 | 45 22 (438 |345| 7 20 |26.4 Rc1/8 32
232 23 17 67 69 9.5 | 385 | 19 6 42 66 45 22 | 438|345 7 20 | 336 Rc1/8 36
240 25 19 74 73 8 48 18 8 50 |80.5(555| 25 52 |395( 7 7 22 (416 Rc1/8 45
m Mounting dimensions
Boresze (o) \[ K | KK | LL] W8 ] 7 [ U] v | wr]
220 12 M8x10 | 124 | M18x1.5 | 10 5 24 14 24 189 | 12 9 8 160 | 21 22 16 56 76
225 14 | M10x1.25| 135 | M26x1.5 | 12 6 30 16 23 || 203 | 12 9 8 171 21 24 16 56 76
232 14 | M10x1.25| 136 | M26x1.5 | 12 6 34 16 23 || 208 | 14 12 10 | 173 | 26 24 16 56 76
240 14 | M12x15 | 147 | M26x15 | 14 7 43 16 23 [ 225 | 16 14 12 | 186 | 30 30 20 60 80
_ With switch (T2W, T3W)
Boresze (nm) \| GC [ GD | R0 [ WD GG [GD [RO WD XF [ b [a ] ¢ |
820 40 | 30| 80 | 70| 6.0 | 5.0 [ 100 | 9.0 44 30 30 (Stroke/3) + 6
825 55| 45|95 | 85| 75|65 | 115|105 | 46 &2 46 (Stroke/3.25) + 7
232 55| 45|95 | 85|75 |65 | 115|105 | 46 32 46 (Stroke/3.25) + 7
240 75 (65 (115|105 95 | 85 | 135 | 125 | 48 34 | 46 (Stroke/3.25) + 7
CKD s



J S K2 'V Series

~_LCM | Dimensions
LCR
_ LCG | @ Rod side trunnion (TA) CAD,
_LCw | X + stroke
LCX 50 _A_ WF LL + stroke
STM ‘
oIV | C \YA BA BB + stroke
STG B BC, BD , _ |37,
STS/STL ‘ T BS|BE [16.GC 305 305 GD16

_ STR2 | - \ \ B EE RD HD
UCA2 A 8 sl

b

ULK* ) T = : 2RI
~ JSKIM2 | - 7 e ‘ NS = : :
JSG o
JSC3SC4 o
UssD N7 o =5

UFCD KK ER
usc TL TM Width Across Flats B il @ BG F‘O,‘ MB

uB TN TG + stroke

JSB3
LMB A WF + ¢
LML b
HCM
HCA

LBC : I .
CAC4
UCAC2

_ CAC-N | XF+1 TG1 + stroke
UCAC-N [With bellows]

oD

BM
BO
\\
M
7
FA .
TH
\
/A
L3
4o
oF

T

s

@TDug
h
l

X1+ stroke

od

RCS2 [Boss cutoff type]
rcc2 | @ Rod type trunnion (TA) with bracket (option)
PCC 50 X + stroke
SHC ™ A, _WE LL + stroke v
MCP BL C Y, BA BB + stroke K
GLC L, T™ BC, BD 37,
—MFC | BU_ T |” BS|BE|16.GC_305 305 GD16
BBS 8, M5 EE A RD HD :
—RRC H* ‘ e ‘ 2Rct8
GRC - ﬁ# sMM mé,,ﬂ} A eI
RV3* < 2 o s x H( i S
NHS Oi [1] : 1 gy -
HRL i L @) < far\¢ e "
BEELLAL SN k\::)} wlH U * S
LN Y 1e5'e)] i L
Hand [=1 i > e—— L‘
Chuk ° e BH .} & e BoLbe L e
MecHnd/Chuk J \ Width Across Flats B
ShkAbs 0120 2010 o IF < TG + stroke
FJ TR i 20
FK Ts 40 75
SpdContr 55

~ Ending | *1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches.
*2: The size of the exhaust port of brake section is the same as that of EE.
*3: £ dimensions should be rounded up to the nearest whole number.
*4: Option with bracket cannot be selected for the brake section with cover "U".
*5 : For the dimensions of the accessories, refer to page 731.

@_
Boresize (mm) \| A | B | BA[BB|BC|BD]BE|BG|BH|BL|BM|BN|BO[BRIBS|BU] C]D | EE_|F|FAlK]
20 | 13 | 58 | 66 9 30 |19 | 5 |29 | 34 |55 |38 |19 |29 | 4 |38 18 28 | 26 | 12

820 214 M5
825 23 | 17 | 67 | 69 | 95 |385]| 19 6 39 | 42 | 66 | 45 | 22 [345| 7 20 | 264 Rc1/8 32 | 35 | 14
832 23 | 17 | 67 | 69 | 95 |385]| 19 6 39 | 42 | 66 | 45 | 22 [345| 7 7 20 | 336 Rc1/8 36 | 35 | 14
040 25 [19 [ 74 |73 | 8 | 48 | 18 | 8 | 50 | 50 | 805 |565] 25 |395] 7 | 7 | 22 |416] Rotie | 45 | 35 | 14
e
e s\ <[] _ws ] 7 [ (w7 s [ v [wr] X
220 M8x1.0 124 | M18x1.5 10 5 8 30 | 70 | 90 14 | 24 | 182 | 4.5 8 9 195 | 1425 | 295 8
825 M10x1.25 136 | M26x1.5 12 6 12 | 40 | 80 | 100 | 16 | 23 [ 198 | 5.5 | 10 11 | 175 | 1575 39 | 12
232 M 10x 1.25 136 | M26x1.5 12 6 12 | 40 | 80 | 100 | 16 | 23 [ 198 | 5.5 | 10 11 | 175 [ 16575 | 39 | 12
240 M12x1.5 147 | M26x1.5 14 7 95| 53 | 93 | 113 | 16 | 23 [ 211 | 55 | 10 11 | 175 | 1685 | 44 | 9.5
m With switch (10, 75,72, 73) _ || ith switch (12w, T3W) || with bellows
e 6o [ =o o ]lc Ten [ro ol [ b [a | & | 63
020 30 | 46 | 40 |30 | 80|70 60|50 |100] 90 44| 30 |30 (Stroke/3) + 6 168 | 1285
825 40 | 64 || 55| 45 | 95 |85 || 75|65 (115|105 46 | 32 | 46 (Stroke/3.25) + 7 182 141.5
232 40 | 64 || 55| 45 | 95 |85 || 75|65 115|105 46 | 32 | 46 (Stroke/3.25) + 7 182 141.5
040 53 | 72 | 75| 65 | 15[ 105] 95 | 85 [135]125] 48 | 34 | 46 (Stroke/3.25) + 7 195 | 1525

716 CKD



J S K2 'V Series

Double acting/with valve for brake

Dimensions tgg
@ Head side trunnion (TB) CAD| ILCG
X + stroke tg;/(\li
A, WE LL + stroke i P
C \A BA BB + stroke 50 sTG
BC_ BD BL, Ty
T4 K ‘ BS| BE | 16 GC_30.5 30.5 GD16 | _|cB B0 | STSISTL
I EE RD HD |STR2
oMM M5 8 L8 UCAZ2
TS 2Re18 it ULK*
SOH© . e SR JSKIM2
P ° N o T e JSG
T T At $ g m oi — A
sfeals - | B Ly o o [sousei
e M N o “ H |uUssD
KK | lest)es| 4 — UFCD
Width Across Flats B / /o al_| |_BG w 19l 'S/ [E WL ™ 2 usc
TJ + stroke | | XK N s (U
JSB3
LMB
A WF +¢{ LML
b HCM
HCA
l_".r LBC
3 Ty - CAC4
,-ILL UCAC2
XF +1 |CAC-N__
[With bellows] %
@ Head side trunnion (TB) with bracket (option) RCC2
X + stroke PCC
A | WF LL + stroke Vv 50 SHC
C |V BA BB + stroke TN MCP
BC_ BD I BL GLlC
T |k ‘ BS |BE |16 GC 305 305 GD16 [TE i, ™ %
M5 EE A RD HD - BU RRC
\ ; ; GRC
A—To 2ot ‘ T | SRE
i O [ R ‘ of i 1o) Feh RV3
5 ’_l >- s z e, NHS
E : T =
' 1 @ o HRL
sfeene — D g <lz| ML
Vv [T
Width AKK & ] d Hand
idth Across ==
Flats B 2 M o % 9 |Chuk
MB_ 1 BG > © WechrdChuk
TJ + stroke S 4-slot 7 x 11 ’ N ﬁ:k&
3|20 1020 20 fl0 EK
7.5 40 TR rPwTyw—
SpdContr
55 TS T
*1 : Refer to page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches.
*2 : The size of the exhaust port of brake section is the same as that of EE.
*3 : { dimensions should be rounded up to the nearest whole number.
*4 : For the dimensions of the accessories, refer to page 731.
m Head side trunnion (TB) basic dimensions
[Bore size mm) \| A | B [BA[BB|BC|BD|BE|BG|BL|BM|BN|BO[BR[BS|BU] C|CB|D| EE | F |FA]
220 20 13 | 58 | 66 9 30 19 5 34 | 55 | 38 19 | 29 4 38 | 18 | 45 (214 M5 28 | 26
225 23 | 17 | 67 | 69 | 95 (385 19 6 42 | 66 | 45 | 22 (345 7 7 20 | 55 [ 26.4 Rc1/8 32 | 35
232 23 17 67 69 | 9.5 385 19 6 42 66 | 45 22 |345| 7 7 20 | 55 |33.6 Rc1/8 36 35
240 25 | 19 | 74 | 73 8 48 18 8 50 | 805|555 25 395 7 7 22 | 55 | 416 Rc1/8 45 | 35
m Mounting dimensions
Boresize o)\ K | kK[ L] B Jwm] 7 ] v [Wr] X [XK]
220 12 M8x 1.0 124 M18x 1.5 10 5 14 24 | 182 | 95 8 9 |295|1525| 8 30 46 70 90
225 14 M10x1.25 | 136 M 26 x 1.5 12 6 16 | 23 | 198 | 105 | 10 1 39 |1645| 12 | 40 64 | 80 | 100
232 14 M10x1.25 | 136 M26x 1.5 12 6 16 23 | 198 | 105 | 10 1 39 |1645| 12 40 64 80 | 100
240 14 M12x1.5 147 M 26 x 1.5 14 7 16 | 23 | 211 | 105 | 10 11 44 (1755 | 9.5 | 53 72 93 | 113
m With switch (T0, T5, 72, 73) _[[With switch (T2, T3w) || with bellows
Boresize ) \'GC [ 6D [ RD [ WD [GC [ 6D [ RD WD [ XF [ [ a | ¢ |
220 40 | 30 (80| 70 6.0 50/|100| 9.0 | 44 | 30 30 (Stroke/3) + 6
225 55 (45|95 | 85| 75|65 |115(105| 46 | 32 46 (Stroke/3.25) + 7
232 55 (45|95 |85 |75 |65 |11.5[105]| 46 32 46 (Stroke/3.25) + 7
240 75|65 |115[(105| 95 | 85 [ 135|125 48 | 34 | 46 (Stroke/3.25) + 7
CKD 7



J S K2 Series

__LcM_ Dimensions
LCR
_ LCG | @ without valve for brake / Basic (JSK2-00)
LCW X + stroke
LCX
STM A | WF LL + stroke \
STG C Y BA BB + stroke K
STSISTL BL BC BD
STR2 BU T K 8| BE |16 & 30.5 305 0016
L UCAZ EE RD HD
ULK* W5 o T .
JSKIM2 am ; 2-Rc1/8
JSG 2 O ‘ a
15034504 Mk OI = s 'éﬂ( 1 —
~ USSD | ERLYS 2\ ) of s i | | .
UFCD \?/ \ * A e e 5
usc KK h@ K| i o
uB Width Across Flats By _MB i
N - MB
JSB3 BH o BG 0 10
LMB BP XF XE + stroke
LML
HCM
HCA
LBC A WF +1
CAC4 b,
UCAC2
CAC-N |
UCAC-N ’_}
RCS2 3 =
RCC2
PCC
SHC XF +1{
MCP [With bellows]
GLC
MFC
BBS
RRC
GRC . . . "
Rv3~ | 1:Referto page 719 for HD, RD and protruding dimensions of T*, T8*, and 2-color LED switches.
NHS *2 : The mounting dimensions are the same as those of JSK2-V (with valve). Refer to pages 712 to 717.
*3 : L dimensions should be rounded up to the nearest whole number.
HRL |, X . )
N 4 : For the dimensions of the accessories, refer to page 731.
Hand
B o sizc () nnmmmmmmmmmmm-nm
" ShkAbs | 220 21.4
bs
FJ 225 23 17 67 69 9.5 | 385 19 6 39 42 66 45 22 | 438 7 20 | 26.4 | Rc1/8
FK 232 23 17 67 69 95 | 385 19 6 39 42 66 45 22 | 438 7 20 | 33.6 | Rc1/8
__ SpdContr | 240 25 19 74 73 8 48 18 8 50 50 80.5 | 55.5 25 52 7 22 41.6 | Re1/8
__Ending| | with switch (10, 75, T2, 73) || with switch 2, T3W)
Bore size (mm) nnmmm--m- EEIIEIIIEI EEIIEI
220 M8x 1.0 124 | M18x1.5 182 | 138 10.0
225 32 14 | M10x1.25| 136 |[M26x 15| 12 6 16 23 [ 198 | 152 | 46 || 55 | 45 | 95 | 85 | 75 | 65 | 115
232 36 14 | M10x1.25| 136 |[M26x 15| 12 6 16 23 | 198 | 152 | 46 55|45 | 95| 85| 75|65 |115
240 45 14 M12x1.5 | 147 |M26x1.5| 14 7 16 23 | 211 | 163 | 48 75|65 | 115|105 95 | 85 | 135
Code
TN Y I N N N S
220 9.0 | 17.3]19.5 (Stroke/3) + 6
225 10.5(19.8 | 22.0 | 18 32 46 (Stroke/3.25) + 7
232 105243 |255| 15 32 46 (Stroke/3.25) + 7
240 125283 295 | 12 34 46 (Stroke/3.25) + 7
s CKD



J S K2 Series

Dimensions
Dimensions [Lem
LCR
@ Brake section with cover (U) / Basic (JSK2-00) %
X + stroke |[LCX
A __WF LL + stroke v |ISTM
c v BA BB + stroke |STG
oMM AC 16 GC 30.5 305 GD16 | K |STSISTL
T K RD HD ™ [STRZ__
i ' o T .
© (@ e e = = JSKIM2
2 - T T - - / ! \LV - » 19 [a)] 19 @ | | JSG
< % j\\; i = A - % JSCalISC4
0 D
 HO} e s ECON e
< KK/ : mm 7S ® 6| usc
MB — L4 G VB UB
AB Width across flats B XF XE + stroke \‘P/'\ JSB3
AA LMB
LML
HCM
HCA
LBC
RD: Rod side max. sensitivity position |CAC4
HD: Head side max. sensitivity position UCAC2
CAC-N
. —r - UCAC-N
m Basic (00) basic dimensions '‘RCS2
oo N A Tarl As [ac a0 TAr TacT s Teafealoconl o fo T T T T i ficamm
220 58.5 | 19.5 21.4 M8x1.0 124 |PCC
225 23 | 56 | 52 | 485|725 | 25 |475 | 17 | 67 | 69 6 |345| 20 | 264 | 32 | 14 | M10x1.25 | 136 %
232 23 | 56 | 52 | 485|725 | 25 |475| 17 | 67 | 69 6 |345| 20 [336| 36 | 14 | MI0x125 | 136 g o
240 25 | 69 | 65 | 56 |8575|2875| 57 | 19 | 74 | 73 8 |395| 22 | 416 | 45 | 14 M12x1.5 | 147 | MFC
m With switch (T0, T5, T2, T3)]| With switch (T2W, T3W) BBS
-m-m--m- EEIIEIIEI EEIIEIIIEI ﬂ GRC
220 M18x1.5 182 | 138 10.0 17.3 RV3*
225 M26x1.5 12 6 16 | 23 | 198 | 152 | 46 | 55 | 45 | 95 | 85 || 75 | 6.5 | 11.5 | 10.5 | 19.8 | 18 NHS
232 M26x1.5 | 12 | 6 | 16 | 23 | 198 | 152 | 46 | 55 | 45 | 95 | 85 | 75 | 65 | 11.5| 105|243 | 15 ['NL
240 M26x1.5 | 14 | 7 | 16 | 23 | 211 | 163 | 48 | 75 | 65 | 115|105 95 | 85 | 135|125 283 | 12 Rand
Chuk
. . . . . . . MecHnd/Chuk
JSK2 Series common dimensions (with T1, T8 switches, with 2-color LED switch) ShkAbs
FJ
@ JSK2-**-**T1H/V, T8H/V, T3 YH/V FK
SpdContr
Ending

RD_ 30.5 30.5 HD

) B dfe@ls |5
43 ‘

— =D
(A

Switch installation dimensions
| 1-color LED (T1, T8) 2-color LED (T3 Y)

: T3 T8 T1,T3Y T1 |T2Y,T8
Bore size (mm)

220 7.0 2.0 6.0 1 28.5 231 19.5 22
825 8.5 3.5 7.5 25 31.0 25.6 22.0 18
232 8.5 3.5 7.5 25 35.5 30.1 25.5 15
240 10.5 5.5 9.5 4.5 39.5 34.1 29.5 12

CKD 719



Brake cylinder Small bore size, disassembly
Double acting/double acting/with valve for brake

JSM2/JSM2-V series

LCM
__LCR |
e @ Bore size: 320/230/240
LCX JIS symbol @ Double acting
__STM_| CAD
STG
STSISTL
STR2
UCA2 i :
—uLks -~ Specifications
% Bore size mm 220 230 240 2820 230 240
~ ussD Actuation Double acting Double acting/with valve
UFCD | Working fluid Compressed air
% Max. working pressure MPa 0.7 (=100 psi, 7 bar) | 0.6 (=87 psi, 6 bar)
JSB3 | Min.working pressure | Brake section 0.35 (=51 psi, 3.5 bar)
LMB MPa Cylinder 0.10 (=15 psi, 1 bar)
%Ckﬂ Proof pressure MPa 1.05 (=150 psi, 10.5 bar)
HCA Ambient temperature °C -10 (14°F) to 60 (140°F) (no freezing) -10 (14°F) to 50 (122°F) (no freezing)
LBC ~ |Brake section M5 | Rc1/8 M5 | Rc1/8
CAC4 | Portsize Cviing RC1/8
W ylinaer C
CAC-N | Stroke tolerance mm 5% (to 200) | *§% (to 1000)
UCAC-N | Working piston speed mm/s 50 to 500
_ RCSZ | "~ o N
RCC2 ushion one
PCC Lubrication Not required (use turbine oil class 1 1ISO VG32 if necessary for lubrication)
__SHC_ | Holding force N 186 431 765 186 431 765
'\Gﬂi&? Allowable absorbed energy J 0.024 0.05 0.093 0.024 0.05 0.093
MFC Note: This product cannot absorb high energy generated by external load. We recommend attaching an
BBS external shock absorber.
__RRC_| . T
cre | Electrical specification for brake valve
SR M JSM2-V-VALVE-KIT-
~ HRrL | Rated voltage (V) 100 AC(50/60 Hz) 200 AC(50/60 Hz) 24 DC
LN Starting current (A) 0.056/0.044 0.034/0.026 0.075
752”‘? Holding current (A) 0.028/0.022 0.017/0.013 '
u
" Veerndon | Power consumption (W) 1.8/1.4 2.1/1.6 1.8
ShkAbs | Voltage fluctuation range +10%
% Thermal class Class B molded coil
SpdContr | 1+ 100/200 VAC coil is available for 110/220 VAC (60 Hz).
———— *2: Refer to “Pneumatic Valves (CB-023SA)” for details on valves (P5136 Series).
Ending
Stroke
Standard stroke (mm) Max. stroke (mm) Min. stroke (mm)
220
25/50/75/100/125/150
230 700 1
175/200/250/300
240
@ For types with switch, minimum stroke varies depending on mounting method. Refer to the following table.
The custom stroke is available in 1 mm increments.
Min. stroke with switch (T-switch)
SwitchmodelNo.| 1 | 2 | 3 |
TO, 75, T2, T3 10 27 51
T2W, T3W 10 31 55
T2Y, T3Y, T1 10 25 49
T8 10 23 47
20 CKD



JSMZ/JSMZ'V Series

Specifications
Switch specifications (T-switch) ILCM
@ 1-color/2-color LED %
Proximity 2-wire] Proximity 2-wire imi i Reed 2-wire cw
T2YH/|T2WH/ LCX
T1H/T1V TOH/TOV T5H/T5V T8H/T8V s vE—
Applica- | For programmable Dedicated for programmable For programmable controller,  [For programmable control- | For programmable controlle, ISTG_
. controller, relay, relay, IC circuit (no indicator | For programmable controller, relay STSISTL
tions compact solenoid valve controller relay ler, relay lamp), serial connection STR2
Output method - NPN output| PNP 0utput|NPN output|NPN output - UCA2
Pwr. supp. V. - 10 to 28 VDC - ULK*
Load volta y JSK/M2
ge[85 to 265 VAC| 10 to 30 VDC |24 VDC $10% 30 VDC or less 12/24 VDC [100/1110 VAC {5/12/24 VDC 1001110 VAC| 12/24 VDC| 110 VAC 220 VAC oG
Load current| 5to 100mA 5to 20 mA (*3) 100 mAorless | 50 mAorless |5to50mA | 7to20mA [50mAorless|20mAorless| 5to 50mA | 7to20mA | 710 10mA | joeaisos
. Red/green|Red/green Yellow [Red/green [Red/green o USSD
Indicator LED LED LED LED No indicator LED TS
) ‘ LED LED | LED | LED LED ) ) UFCD
lamp (Lit when ON)| (LitwhenON) | ) (Litwhen ON) | ) ) (Lit when ON) lamp (Lit when ON) uUsC
(Lit when ON) | (Lit when ON) (Litwhen ON) |(Lit when ON)| (Lit when ON) uB
Leakage | 1mAorless with
100 VAC, 2mAor 1 mAorless 10 pAor less OmA JSB3
current | less with 200 VAC LMB
1m: 33 Tm18 [ 1m:33 | 1m:18 1m: 18 1m:33 | 1m:18 1m: 18 1m: 33 LML
Weight g| 3 m: 87 3m:49 | 3m:87 | 3m:49 3 m: 49 3m: 87 | 3m:49 3 m: 49 3m: 87 HCM
5m:142 | 5m:80 | 5m: 142 | 5m: 80 5 m: 80 5m: 142 | 5m: 80 5 m: 80 5m: 142 EEC;CA
*1 : Refer to Ending Page 1 for detailed switch specifications and dimensions. CAC4
*2 : Switches other than the above models, such as switches with connectors, are also available. Refer to Ending Page 1. UCAC2
*3 : The max. load current is 20 mA at 25°C. The current is lower than 20 mA if the operating ambient temperature around the switch is higher than 25°C. CACN
(5 to 10 mA at 60°C) .
UCAC-N
RCS2
RCC2
PCC
. . SHC
Cylinder weight (Unit: kg) cp
Product weight when stroke (S) = 0 mm i GLC
Switch rail A(:f;it'g%':al MFC
. . . +
Bore size AX|aLIBfoot FI?:rAge Clgxls Tl}?lr;l;n w:iar::tj weight| per S = 10 gBRi
o] (LB) (FA) (CA) | (TATTB) 9 mm
220 0.48 0.63 0.54 0.61 0.53 Refer tothe weight|  0.005 0.01 E\;fé
230 0.94 1.20 1.09 1.15 1.04 in the switch 0.005 0.07 0.014 HRL
240 1.57 1.83 1.72 1.79 0.73 specifications. 0.009 0.02 LN
Hand
Product weight when S=0mm......... 0.73 kg100 Chuk
Additional weight when S =100 mm... 0.01x——=0.1k Mectfnd Chuk
(Example) JSM2-V-LB-20-100-2-TOH-D g 10 9 ShkAbs
Weight of 2 switches ..................... (0.018 + 0.005) x 2 = 0.046 kg Tl
Product weight ...............c.oni. 0.73 kg + 0.1 kg + 0.046 kg = 0.88 kg FK
SpdContr
Ending
Theoretical thrust table (Unit: N)
Bore size |Operating Working pressure MPa
(mm ) |direction| 01 | 045 ] 02 ] 03 | 04 | 05 | 06 ] o7 |
20 Push 314 471 62.8 94.2 1.26x 10° 1.57x 10° 1.88x 10° 2.20x 10?
%]
Pull 23.6 5.8 471 70.7 94.2 1.18x 10° 1.41x 10° 1.65x 10°
30 Push 70.7 1.06 x 10° 1.41 x 10 2.12x10° 2.83x 10° 3.53x10° 4.24 x 10° 4.95x 10°
%]
Pull 59.4 89.1 1.19 x 10 1.78 x 10 2.38 x 10° 2.97 x 10° 3.56x10° | 4.16 x10°
40 Push 1.26 x 10° 1.88 x 10° 2.51x 107 3.77 x 10 5.03 x 10° 6.28 x 10° 7.54 x 10° 8.80 x 10°
(4]
Pull 1.10 x 10° 1.65 x 10° 2.21 x 10° 3.31x10° | 4.41x10° 5.51 x 10° 6.62 x 10° 7.72 x10°

CKD 721



JSMZ/JSMZ'V Series

__ LM How to order
LCR @ Nodel No.
__LCG | @Without valve
LCW . . - . =
—icx | Without switch (built-in magnet for switch) £ o
o (L JSM2 ®D e |32
g9l | With switch (built-in magnet for switch) S % % g %
— - .® .@ .@ .@ ode Description a3 3
3Tci22 aNE ® ®® ® Mounting
ULK* . 00 |Basic [ J [ J
v @With valve for brake TR o o
JSG Without switch (built-in magnet for switch) FA |Rod side flange ° °
JSCIUSC - - - - (1) —
USSD JSM2-V @ ®® CA |Eye bracket [ J ®
UFCD With switch (built-in magnet for switch) TA |Rod side trunnion (] o
% JSM2-V ----@--@-@@ TB |Head side trunnion [ ] [ ]
JSB3 5 : @ Bore size (mm)
~ LMB | ~ @Boresize 20 [020 o | o
LML @ Mounting 30 |230 ° °
HCM
HCA O Model No. 40 |@40 ° °
% 1 Stox @ Stroke (mm)
" UCAC2 | @ roxe Bore size Stroke *2 Custom stroke
CAC-N 220 1to 700
% 230 1to 700 In 1 mm increments
T RCC2 | 240 1to 700
__PCC | @ Valve voltage
—SHC @ Valve voltage 1 [100 VAC (50/60 Hz) °
—GLC | 2 |200 VAC (50/60 Hz) )
MFC 3 [24VDC [ J
RRe @ SwitchmodelNo. |
—apc | @ Switch model No.
% @ Switch model No.
RV3* Refer to the switch model No. table
NHS on the following page.
HRL
LN * Lead wire length
Hand Blank |1 m (standard) [ ] [
_ Chuk | . . 3 |3 m (option) ) °
i | £ Precautions for model No. selection 5 |5 m (option) e | o
ShkAb:
Ts *1 : Low hydraulic can also be supplied as made-to-order @ S " @ Switch quantity
— | product witch quantity )
% Model numbers are JSM2-H and JSM2-VH. R_|fonrod Sld.e hd b
PRI« - Refer to page 720 for the min. stroke with switch. H |1 0n head side hd bt
Ending | *3 : For a TA mounting, the brake section with cover (U) D |2 [ ] @
cannot be selected. T 3 PS P
4 |4 (when there are more than 4 switches, indicate switch quantity.) | @ [ J
- tion
@ Option s Max. ambient tem I
*3 b perature : Instantaneous max. temp
[Example of model No.] J | Bellows 100°C 200°C o | o
JSM2-V-LB-20-50-1-TOH-R-PI L | Bellows |  250°C 400°C oo
) ) M |Piston rod material (stainless steel) [ J [ J
Model: Brake cylinder with valve for brake P |Same port position Py °
O Model No. : With valve —
® Mounting - Axial foot U |Brake section with cover [ J [ J
@ Bore size : 20 mm @ Accessory
® Stroke : 50 mm @ Accessory [ T 0 eye e | o
g\slalf;ehvonajel N : ;{00 ;/¢(03H itch Y |Rod clevis (pin, washer, split pin attached) [ J [ J
witch model No. : Ree switch, - - -
@ Switch quantity : 1 on rod side B2 |Clevis bracket (pin, snap ring attached) [ J [ J
@ Option : Same port position
@ Accessory : Rod eye

722 CKD



JSMZ/JSMZ'V Series

How to order

[F] Switch model No. %
T-switch _ ILCG
Straight | L-shaped | §|Voltage . Lead LCW

i X = Indicator i Lcx
lead wire | lead wire | S|AC|DC wire ST
TOH* TOV* - [ AN J 1-color LED sTG
T5H* T5V* é @® | ® | Noindicator lamp 2-wire STSISTL
T8H* T8V* (2K ) 1-color LED iTC%
T1H* T1V* [ ] oo UK
-wire
T2H* T2Vv* o 1-color LED JSKIM2
T3H* T3V* ) 3-wire Jsc
- JSC31SC4
T3PH* T3PV* |2 [ J 1-color LED 3-wire USSD
T2WH* T2WV* E [ ) UFCD
o 2-wire usc
T2YH* T2YV* | [ J [Uob.
T3WH* T3WV ° 2-color LED UB
3-wire JSB3
T3YH* T3YV* [ J LMB
T2JH* T2JV* ° Off-delay 2-wire ILML__
HCM
) HCA
How to order switch LBC
. CAC4
[T-switch] UCAC2
@ Switch body + mounting bracket set @ Switch body only @ Mounting bracket set CAC-N
UCAC-N
(JSM2 )-(TOH )-20 SW)-(TOH ) JsM2 )- T -20 Rosz
RCC2
PCC
, . SHC
Bore size Switch model No. Bore size MCP
(Item © on page 722) (Item ® on page 722) (Item © on |MoE
page 722) %
Switcrg@model No. Mounting bracket 'BBS
It 722 =
(Item ® on page ) SRC
GRC
RV3*
NHS
How to order brake valve ENL
H
(JSM2-V)-( VALVE-KIT ) - Hand__
MecHnd/Chuk
Code Description ’S:Dk&
@ Valve voltage 1 [100 VAC (50/60 Hz) e
2 200 VAC (50/60 Hz) SpdContr
3 |24VDC Ending
How to order mounting bracket
Bore size (mm)
230 240

Mounting bracket

Basic (00) *3 M1-0020 M1-00-30 M1-00-30

Axial foot (LB) M1-LB-20 M1-LB-30 M1-LB-30

Flange (FA) M1-FA-20 M1-FA-30 M1-FA-30

Eye bracket (CA) M1-CA-20 M1-CA-30 M1-CA-30

Trunnion (TA/TB) M1-TA-20 M1-TA-30 M1-TA-40

*1: As for mounting brackets, the axial foot and flange include mounting nuts and toothed washers, and the trunnion includes mounting nuts.

*2: For axial foot, 2 sets of the above “M1-LB-*" are required.

*3: Mounting nut, toothed washer only. Although 1 set is attached with the basic of the product (00), use this when needed.

CKD =



JSMZ/JSMZ'V Series

% Material of mounting bracket
__LCG_ | Remarks
LCW
_LCX_ B Steel Zinc chromate
_ST™M | FA Steel Zinc ch t
STG ee inc chromate
STS/STL | TA/TB Steel Zinc chromate
~_STR2 | cA Steel Zinc chromate
% Note: Mounting bracket will be shipped with the product.
JSKIM2 However, if the product is supplied with bellows and the mounting bracket is LB, FA, or TA, it will be shipped assembled.
JSG
JSC31SC4 .
~ ussp | Internal structure and parts list
UFCD
~ usc @ JSM2 (double acting/with switch)
UB @ JSM2-V (with valve and switch)
JSB3
LMB
LML o
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2 M
RCC2 X i
PCC
SHC
MCP
~ GLC | .Note: JSM2 does not have No. @.
_ MFC | .Note: The switchless models
__BBS | do not have numbers @ to €D.
RRC 4
GRC
RV3*
__NHS |
SR _ Brake section cannot be disassembled
Parts list
__Hand |
A Part name Part name Remarks
MecHnd/Chuk
% 1 |Rod nut Steel Zinc chromate 17 |Brake shoe metal|Cast iron
FK ) 220/830 stainless steel ) ) 18 |Bush Dry bearing
— > 2 |Piston rod Industrial chrome plating -
SpdContr 240 carbon steel 19 |Ring Steel
Ending ‘ 3 |Scraper Nitrile rubber 20 [Rod packing Nitrile rubber
4 |Brake body Cast iron Zinc chromate 21 |Fixed ring Steel Zinc chromate
5 |Brake piston Copper alloy casting 22 |Square flange Steel Zinc chromate
6 |Piston packing |Nitrile rubber 23 |Hex socket screw|Steel Black finish
7 |Lever Steel Zinc chromate 24 |Piston A Aluminum alloy
8 |Valve for brake release |--- P5136MO 25 [Magnet Plastic
9 |Cylinder gasket |Nitrile rubber 26 |Wear ring Acetal resin
10 |Rod cover Aluminum alloy 27 |Piston B Aluminum alloy
11 |Cylinder tube Aluminum alloy Alumite 28 |Hexagon nut Steel Zinc chromate
12 |Piston packing |Nitrile rubber 29 |Spring washer |Steel Zinc chromate
13 |Head cover Aluminum alloy With switch
14 |Hex socket screw |Steel Black finish 30 |Switch body -
15 |Hex socket screw |Steel Black finish 31 |Band Stainless steel
16 |Brake spring Steel Black finish 32 |Pan head machine screw| Stainless steel
33 |Switch rail Stainless steel
Repair parts list
No./part name X
= Repair parts No.
230 JSM2-30K @ @
240 JSM2-40K
24 CKD



J S M2 'V Series

Double acting/with valve for brake

Dimensions [Lem
LCR
@ Basic (00) with switch CAD X + stroke ILCG
A WF LL + stroke W LCW
C v BA BB + stroke LCX
BU 50 . T BC_ BD 37 30.5 305 _ 6,1 ST™
Conduit EE wBi BE 10 10 STG
T — STSISTL
e M5 | H-HO) | 2Rt P1
g amd el A A\ JPEaid STR2
& i x 7\? }/ L UCA2
=S| @ - 1Py [ - ULK*
@ T éQ i 2 r @ e =1 Q? ',3,, w K/M2
35 § (&) [ *Toml™ ] 5 g ;
KK 17 = N5 & fiut | JSG
BH Width Across Flats B 2 VB BG|_8| |c¢| Q G| N\MB J8C31SC4
BL 15 [RD HD |USSD__
BP XF XE + stroke - UFCD
A WF +¢ i - usC
220 (nipple part) Port nipple Rc1/8 UB
b 7 Y e
J (L JSB3
il oV % LMB
< dh o , o |@fe =1 L Hr TLVR—
s ® HEE =zl HCM
. e - J HCA
RD: Rod S'd_e max. sensm.vllty posm.oln ’ With bell Note: The 220 mm bore size model of JSM2 includes a port nipple as shown. (for || 5¢
HD: Head side max. sensitivity position [With bellows] rod side only). If the port nipple is excluded, it has the same shape as that of | cAc4
*1: The size of the exhaust port of brake section is the same as that of EE. 230 mm and @40 mm bore size cylinders. "UCACZ
*2: Conduit on the valve terminal box for 230 and @40 mm is on the opposite side of that shown in the figure. o —
*3 : For the dimensions of the accessories, refer to page 731. *4: £ dimensions should be rounded up to the nearest whole number. %
m Basic (00) basic dimensions 'RCS2
[Bore size mm) \| A | B |BA[BB|BC| BD |BE[BG|BH[BL|BM | BN |BO| BP | BR [BS|BU| C | D | EE [F| Kk |LL JECCZIN
220 20 (13|58 |66| 9 | 30 [19| 5 | 29|34 | 55 | 38 [19| 38 | 29 | 4 |38|18|25| M5 [26| M8x1.0 [124 PCC
230 23 |17 | 67 | 72 |95|385| 19| 6 |39 | 42 | 66 45 | 22 (438 345 | 7 20 | 35 | Rc1/8 | 35| M10x1.25 | 139 %
240 25119 |74 | 74| 8 48 (18| 8 |50 | 50 |80.5| 55 [ 25 | 52 | 395 7 22 | 45 | Rc1/8 |46 | M12x1.5 | 148 [ ¢
_ Witswich 1,75,12,79 | With switch (T2W, T3w) With bellows MFC
: " BBS
[Bore size mm) \| _MB_{mM[ T [ v [WF| X | XE | XF[IGC|GD|RD|HD]IGC[GD[RD[HDI P |P1] (b ] d | e [
220 M18x15| 10 | 5 | 14 | 24 | 182|138 | 44 | 9 9 [13 |13 |11 |11 |15 |15 (19521 | 19| 32| 30 (Stroke/3) + 6 'GRC
230 M26x15| 12 | 6 | 16 | 23 | 201 (155 (46 || 12 | 12 | 16 | 16 || 14 | 14 | 18 | 18 ||245| 26 | 15 || 38 | 46 (stroke/3.25) + 7 RV3*
240 M26x15| 14 | 7 |16 | 23 | 212|164 | 48 || 13 | 13 [ 17 | 17 |15 | 15 | 19 | 19 ||295| 31 | 12 || 40 | 46 (stroke/3.25) + 7 NHS
@ Axial foot (LB) LA + stroke ::'NL
A WF LL + stroke \ Hand
C -V BA ‘ BB + stroke Chuk
BH T BC__BD 37 30.5 305, 6 MechdCnk
Bu___ 150 Conduit EE &/BE 0 10 "ShkAbs
ik M5 e R
2 Qt— i GB' 4:% DF | 2Retl FK
ol A == % . \7‘9 _.1-/ SpdContr
o - Y | =T
P ') [’?/:N > T Py S B :=! Ending
CJiw oo™ T 111 |
: T KK =OH e H g
\ \ ; 48 i
o : Width Across Flats B/ § BG| 8] ¢ 8 gD :
4ol A | tg I e LLC 15_|RD HD| |_LC
«® LB LG + stroke LB
A WEF +¢
° \
s
B Ll &
Z @ [With bellows]
*1 : The size of the exhaust port of brake section is the same as that of EE.  *3: £ dimensions should be rounded up to the nearest whole number.
*2 : For the dimensions of the accessories, refer to page 731.
_ Axial foot (LB) basic d
| 8D [BE|BG[BH| BT | BN [Bo| BR|BS|BU[ C | D | EE | F|FA[H] KK [LL
220 20 |13 | 58 | 66 | 9 30 |19 5 | 29| 63 38 | 19| 29 4 [ 38|18 | 25 M5 26 | 26 | 15 [M8x1.0| 124
230 23 |17 | 67 [ 72 |95|385| 19| 6 [ 39| 75 45 | 22 (345 | 7 7 |20 | 35 Rc1/8 35| 35| 20 [ M10x1.25 | 139
240 25|19 |74 |74 | 8 48 | 18 | 8 | 50 | 855|555 |25 (395 | 7 7 | 22| 45 Rc1/8 46 | 35 | 20 [M12x1.5 | 148
m Mounting Wi ich 1,75, T3T9) With bellows
o sie o \[ W] TV [ | [ ) 3 ) ) R
220 10 5 | 14|24 (19|10 | 18| 6 [160( 25|30 |44 9 | 9 |13 |13 |11 |11 |15|15(195|21 |19 32 | 30 (Stroke/3) + 6
230 12| 6 |16 |23 ({22012 |23 | 7 [185|30 |46 |62 12|12 |16 | 16| 14 | 14 | 18 | 18 [[245| 26 | 15 || 38 | 46 (strokel3.25) 7
240 14| 7 |16 [ 23231 (12|23 | 7 [194| 30 |46 |62 |13 (13|17 |17 |15 [ 15|19 | 19 [295| 31 | 12 | 40 | 46 (stroke/3.25)+7
CKD



J S M 2 'V Series

: : CAD
__Lem | Dimensions
LCR
LCG Rod side flange (FA
LCW b ge (FA) X + stroke
LCX A WF LL + stroke V
STM C V BA BB+ stroke
STG BU 50 T BC BD 37 30.5 30.5 6| 1
STS/STL Conduit EE BS§ BE 10 10
— STR2 | ak Ms| | R |
UcA2 | | o NS O o-[@) | 2Re1s 1
ULk || f I— ” Yo 5
sskim2 IR =\ ° @ i L . | P 2
fap) O[Ty 1 — =1 ) )
JSG w gt 7% Rd = = % m
- — R
JSCaUSCA o U & KK H R | | ‘
UssD ‘ / - a N._MB
" UFCD | FL 4-gFD W\dthacrossﬂatsf:\AM FT BG - %RQD 5] 99
FM [4) HD
__usc | FF FG + stroke ]
_UB__ | A WF+
JSB3 b
LMB A -
ML
HCM o A e
HCA L & N
LBC &
CAC4 [With bellows]
_ UCACZ | #1 . The size of the exhaust port of brake section is the same as that of EE.  *3 : £ dimensions should be rounded up to the nearest whole number.
% *2 : For the dimensions of the accessories, refer to page 731.
~ RCSZ2 | Rod side flange (FA) basic dimensions
Rl B ore size (mm) HEEEEEIEEEEEIIEEEEEEEEIEIEIE-IEMIM
__PCC | 220 M8x1.0 | 124 | M18x1.5 M18x1.5
% 230 23|17 |67 (72|95|385|19| 6 | 67 |455|22|345| 7 | 7 [20|35| Rc1/8 [ 35| M10x1.25 | 139 | M26x1.5 | 12 | M26x1.5
GLC 240 25|19 |74 (74| 8 48 (18| 8 |77.5|555(25|395| 7 | 7 |22 (45| Rc1/8 |46 | M12x1.5 | 148 | M26x1.5 | 14 | M26x1.5
MFC Code |19, 12, )
BBS P o
R 5ore size (mm) \[MM[ T [V WF[ X IEEIE!EEEII Gc[6D|RD|HD](GC[GD]RDHD] nm I!EI-
" GRC | 220 10| 5 |14 |24 (182 20.8|141.2 54132 9|9 [13[13|11[11[15]|15(19.5| 21 (Stroke/3) + 6
RV3* 230 12| 6 (1623|201 28| 7 |18.5|159.5(44 |64 |80 |4.5( 12|12 (16|16 14 (14|18 |18|24.5| 26 | 15 || 38 | 46 (Stroke/3.25) + 7
NHS 240 14|17 |16 |23 (212|128 | 7 |18.5|1685|44 |64 |80 (4.5 13|13 |17 (17| 15|15 [19[19(29.5| 31 | 12 || 40 | 46 (Stroke/3.25) + 7
HRL
—IN | @ Eye bracket (CA) CA + stroke
A WE LL + stroke GE
__Hand | [ \/ BA BB+ stroke CL__CM
_ Chuk_| U 50 T BC BD 37 305 305 6
MecHnd(Chuk Conduit EE BJBE 10 10
ShkAbs M5 N
c T M5 | s I
FJ ‘1917 = @ ‘j‘;; @ 2-Rc1/8 @CDrio <P
FK z yod P
& o ?‘e ~ .
spdcontr 12| Q @ N — L= | : &
"~ Ending | [T @§ "B’ * + — - M\ ™ OO
nding o[ \Ey g N hd ] | | = \Jl = O
UJ A A
. KK 6o = = ‘ Y
MB S2
SE Width across flats B ¥ BC|;8 (439 S 99
15 |[RD HD CB
BP _eMM, CJ + stroke - ~—|CC
A WF+{
b
|
T
o rf s
1S} 4 L1 hd
U
[With bellows]
*1 : The size of the exhaust port of brake section is the *2 : For the dimensions of the accessories, refer to page 731.
same as that of EE. *3 : L dimensions should be rounded up to the nearest whole number.
Eye bracket (CA) basic dimensions
Bore size (mm) HEEEE!EEEHWEEEEEEEEEIEEHEE-IM
220 M8x1.0 [ 124 | M18x1.5
230 23 (17 67 | 72 [95|385( 19 | 6 |42 | 66 | 45 | 22 |43.8|345| 7 7 |20|35| Rc1/8 | 35 | 62 | M10x1.25 | 139 | M26x1.5
240 25|19 |74 |74 | 8 48 | 18 | 8 | 50 |80.5|55.5| 25 | 52 [39.5| 7 7 |22|45| Rc1/8 | 35 | 62 | M12x1.5 | 148 | M26x1.5
Code i | With bellows
Bore size (mm) \[MM[ T | v [WF] EEIIEIIIEJ GC|GDIRD|HD| P [P1](Po) I!EI_
220 10| 5 |14 | 24 223 193 13 11| 11| 15| 15(19.5/ 21 | 19 || 32 | 30 |(Stroke/3) + 6
230 12| 6 |16 (23 (247| 18|12 (12 |212| 32|30 | 7 |26 10|12 (12|16 |16 14|14 | 18| 18 24.5| 26 | 15 || 38 | 46 |(Stroke/3.25) +7
240 7 |16 [23(258| 18 (12|12 |221({32 (30| 7 |26 (10|13 13|17 |17 (15|15 | 19| 19 (29.5| 31 | 12 || 40 | 46 |(Stroke/3.25)+7
26 CKD



J S M2 'V Series

Double acting/with valve for brake

; : CAD
Dimensions [Lem
LCR
@ Rod side trunnion (TA) ILCG
X + stroke LCW
A WF LL + stroke \ LCX
BL C \ BA BB + stroke STM
BH T BC BD 37 30.5 305 6] 1 STG
g %0 Conduit EF BS| BE 10 10 [STSISTL
N \ \ STR2
ik [ M V3 e rey (UCA2
ol CO\D Uj/ 2-Rc1/8 o P1 e
Z *
o3
=9 x KIM2
278 b7z 5 IR AA L g i
@ Y <= 4 4 = a g L JSG
i U5 o® B ‘ ‘ = ] ® JSCHISCA
U | KK A R = | HL{ UssD
3 BG| 8| |oC Q e [NMB "UFCD
s ™ = Width Across Flats B = Sl | UFCD
TN o MM TE 15 |RD HD| USC
TF \ TG + stroke UB
A WF +1¢ JSB3
b | LMB
LML
- ¢ H HCM
3 I =/hé HCA
LBC
[With bellows] |CAC4
*1 : The size of the exhaust port of brake section is the same as that of EE.  *3: £ dimensions should be rounded up to the nearest whole number. |UCAC2
*2 : For the dimensions of the accessories, refer to page 731. %
m Rod side trunnion (TA) basic dimensions W
HEIEEEIEEEEEIIEIIEIIEEEIEEE!-EEHEIEE-W RCC2
220 M8x1.0 M18x15 |PCC
230 23[17] 67 |72 [95]385( 19| 6 |39 |42 | 66 [455| 22 [345| 7 [ 7 [20[35| Re1/8 | 35 | 35 [mioxt25 [ 139 | m2sx15 %
240 2519|174 | 74 | 8 48 |18 | 8 | 50 | 50 | 805|555 |25 [39.5| 7 7 |22 45| Rc1/8 | 46 | 35 | M12x15| 148 | M26x 1.5 GLC
With bellows MFC
INI-N! I E!IEIE IE!IEIE IIEI I!EI- BBS
220 10| 5 182 195 | 1425 | 295 19.5 32|30 (Stroke/3) + 6 %
230 12| 6 [ 16232015510 |11 |175| 05|39 (1240 |64 12(12|16|16(| 14|14 |18 |18 245|26| 15 || 38|46 (stroke3.25)+7 RV3*
240 147 [1623 | 212(55|10 | 11 | 175| 1695 44 |9.5(53 | 72|13 [13 (17 [17|[15[15[19|19]29.5 |31 | 12 | 40|46 (stroke/3.25)+7 NHS
HRL
@ Head side trunnion (TB) X + stroke He
A WF LL + stroke V Rand
c | v BA BB + stroke |qand___
| i Chuk
T BC BD 37 30.5 30.5 6 MechndChe
I‘3U 50 Conduit EF BS|BE 1‘0 ‘ 10 B ShkAbs
TTT M5 T HA )
| ol B EETE) | 2reus ) o| [FK
| m N P 3
P o el - O | | SpdContr
=219 % —[l H A X Y ——
m m — H L /! :
@ % ’% @§ ‘-i \'Zu i X : = ﬁ _E ,:'_: g.)\]k\ \.)\ Ending
! @Yo B ‘ ‘ S5 =
2) « i X | L = U N
i GD
BH Width Across Flats B VB BG| |8 gg % ‘H‘D» L ™
BL oMM 15 |RD RTE ™
BP TJ + stroke TK
A WEF +1¢
b
Ty
e &
B S *
[With bellows]
*1 : The size of the exhaust port of brake section is the same as that of EE. *3: ¢ dimensions should be rounded up to the nearest whole number.
*2 : For the dimensions of the accessories, refer to page 731.
_ Head side trunnion (TB) basic dimensions
HEEEEEIEEEEEMEIIEEEEEEE!-EE-E-IMW
220 M8x1.0 | 124 [M18x15
230 2317|167 | 72 |95|385( 19 | 6 [ 42 | 66 | 45 | 22 | 345 7 4 [ 20| 35| Rc1/8 | 35 | M10x1.25 | 139 [M26x1.5| 12
240 25(19| 74 |74 | 8 48 [ 18 | 8 | 50 [80.5|555| 25 (395 7 7 |22 |45 | Rc1/8 | 35 [M12x1.5| 148 |[M26x15| 14
l---- EEIIEIE (GC| GD| RD | HD| II I!EI-
220 182 8 | 9 [295|125|9.5| 8 | 30 | 46 13| 11|11 [ 15| 15195 32 (Stroke/3) + 6
230 6 | 16|23 |201|55|10| 11|39 [1#675(105[ 12|40 |64 | 12|12 |16 |16 14|14 |18 | 18 245| 15 | 38 | 46 | (stroke/3.25)+7
240 7 11623 | 2125510 | 11 [ 44 |1765[105(9.5| 53 [ 72 (| 13 |13 [17 |17 || 15| 15| 19| 19 [ 295 | 12 (stroke/3.25) + 7
CKD 727



J S M 2 Series

LCM
LCR

Dimensions

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
__JSKIM2_
JSG
SCHISCH
USSD
UFCD
usc
uB

BM

BN

5o,

BL

BH

2
5

JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Code
Bore size (mm)

220

20

13

@ Without valve, basic (JSM2-00)

X + stroke

WF

LL +

stroke

—|IO >

BB+ stroke

Ms|

BE

30.5

305 6

1

0 10

2-Rc1/8

K7

Width across flats B

oMM

XF

=

| ==

[m]
8

XE + stroke

#G)

WF+

ad

&4

[With bellows]

5a]ec]

66

58 30

19

29

34

L]

55

38

25

38

18

25

\.MB

*1 : The mounting dimensions are the same as those of JSM2-V (with valve for brake). Refer to pages 725 to 727.
*2 : For the dimensions of the accessories, refer to page 731.
*3 : I dimensions should be rounded up to the nearest whole number.

Without valve, basic (JSM2-00) basic dimensions

M5

P1

()

M8x1.0

Hand

230

23 | 17

67 | 72 38.5

19

39

42

66

45

32

43.8 20

Rc1/8

M10x1.25

Chuk
MecHnd(Chuk
ShkAbs
FJ

FK

240

Code
Bore size (mm)

220

25

M18x1.5

19

74 48

10 24

18

182

BG]
5
6
8

50

[ [ o]
9

138

50

44

80.5

55.5

13

36.5

[HDJlGC|
13 | 11

52 22

IIEII

19.5

Rc1/8

M12x1.5

(Stroke/3) + 6

SpdContr

230

M26x1.5

12 23

201

155

46

12

16

16

14 18

245

(Stroke/3.25) + 7

Ending

240

M26x1.5

14 23

212

164

48

13

17

17

15 19

29.5

(Stroke/3.25) + 7

728

CKD



J S M2 'V Series

Double acting/with valve for brake

Dimensions tgg
@ Same port position (P)/basic (JSM2-00) ILCG
X + stroke tg;/(\li
A WF LL + stroke \ W
C Vv BA BB + stroke W
T BC BD 37 30.5 30.5 16 | 1 STSSTL
BY S0 Conduit EF BS|BE 10 10 8 STR2
- V5 sl B UCA2
ol L NS |2-Retse P1 ULK*
8ot o o el Rac JSKIM2
= [a1] _u' ,'.' W[ 0 M—
m o — N N - — JSG
RAE @2 1 b3 SN & . 3 w| | JSCauscH
3% | | ' e\ USSD
[ s| "D b | N UFCD
Width Across Flats B —
BH Width Across Flats B, s N\MB BG| 8| [5C| Q GD| Use
BL 15 |RD HD UB
BP XF XE + stroke = —
JSB3
A WF +¢ MB
b | LML
. HCM
o HCA
3 Lt * LBC
CAC4
RD: Rod side max. sensitivity position [With bellows] %
HD: Head side max. sensitivity position TUCACN
m Basic (00) basic dimensions RCS2
Boresize o\ A | & | BA | BB | Bc [ 0] B8 [BG] 85 ¢ [ 0] & F | _wk L] we Jww| T Jcc
220 20 | 13 [ 58 |76 | 9 [ 30 |19 | 5 | 4 | 18] 25 M5 26 | M8x1.0 | 134 | M18x15 | 10 | 5 %
230 23 | 17 | 67 | 82 | 95 |385| 19 | 6 | 7 | 20 | 35 Rc1/8 35 | M10x125| 149 | M26x1.5 | 12 | 6 -0
240 25 | 19 | 74 | 84 | 8 |48 | 18| 8 | 7 | 22| 45 Rc1/8 46 | M12x15 | 158 | M26x15 | 14 | 7 |GLC
m With switch (T2, T3W) With bellows MFC
- BBS
cc]ep[ro[Hplleclep|rolDfl P [Pl o [a | e [Ese
220 14 | 24 | 192|138 | 44| 9 | 9 |13 |13 | 11| 11|15 |15 |195] 21 | 19 | 32 | 30 (Stroke/3) + 6 GRC
230 16 | 23 | 211 [ 155 | 46 | 12 | 12 | 16 | 16 || 14 | 14 | 18 | 18 |245| 26 | 15 | 38 | 46 (stroke/3.25) + 7 RV3*
240 16 | 23 | 222|164 |48 | 13 |13 [ 17 | 17 |15 | 15 | 19 | 19 [295| 31 | 12 | 40 | 46 (stroke/3.25) + 7 INHS
—— - HRL
@ Brake section with cover (U) / Basic (JSM2-00) X + stroke N
A WF LL + stroke V Hand
C Y BA BB + stroke Chuk
5 T AC 30.5 30.5 6| 1 MecHnd Chuk
Conduit | 10 10 i:k&
0 O-HD} |2-Rc1/8 P1 FK
10) = -~ NI P SpdContr
Q x o) s l | SpdContr
- I g . Ending
(©) Jerieliel L= = B (©) 2
% \\J KK 7 < ,:; | | i < =
Width Across Flats B s LV BG| 8| l6C [a] GD NMB.
AB - ] MB = S |
15 |RD HD|
XF XE + stroke
A WF +¢
: /
l —
®
g ol ®
[With bellows]
Code Basic (00) basic dimensions
Boresize(mm) \| A | AB | AC | AD | AF [AG| B |BA|BB[BG|BR|C|D[F] KK [LL| MB |MM]
220 20 | 47 | 39 |585|195| 39 | 13 | 58 | 66 | 5 | 29 | 18 | 25 | 26 | M8x1.0 | 124 | M18x15 | 10
230 23 | 52 | 485|725 | 25 |475| 17 | 67 | 72 | 6 |345| 20 | 35 | 35 [M10x125| 139 | M26x1.5 | 12
240 25 | 65 | 56 (8575|2875 | 57 | 19 | 74 | 74 | 8 [395| 22 | 45 | 46 | M12x15 | 148 | M26x15 | 14
Code With bellows
Bore sz () ; o] e[ oo [Ro] Ho| IR
220 5 |14 |24 (182|138 |44 9 | 9 [13 |13 | 11 | 11|15 |15 [195]| 21 | 19 | 32| 30 (Stroke/3) + 6
230 6 | 16 | 23 [ 201 | 155 | 46 | 12 | 12 | 16 | 16 | 14 | 14 | 18 | 18 [ 245 | 26 | 15 | 38 | 46 (stroke/3.25) + 7
240 7 |16 |23 | 212 | 164 | 48 | 13 |13 |17 |17 | 15 | 15 | 19 | 19 [ 205 | 31 | 12 | 40 | 46 (stroke/3.25) + 7
CKD 729



JSMZ/JSMZ'V Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STS/STL
STR2

JSM2 Series common dimensions (with T1, T8 switches, with 2-color LED switch)

@ JSM2-**<T1H/V, T8H/V, T3 YH/V

RD 30.5 30.5 HD

UCA2
ULK*

__JSKIM2_
JSG
SCHISCH
USSD
UFCD
usc

& (D) » - iTLF‘ﬂ_

BBS
RRC
GRC
RV3*
NHS

Switch installation dimensions

1-color LED (T1, T8) 2-color LED (T2/3 Y)
Code [ ®0 [ w0 [ ]

- T1,T2/3Y,T2J T8 T1,T2/3Y,T2J T8 T2/3Y,T8,T2J T1

220 12 7 12 7 25 30 21 19

HRL
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK
SpdContr

Ending

230 15 10 15 10 30 35 26 15
240 16 1" 16 1" 36 41 31 12

730 CKD



JSKZ/JSMZ Series

Common accessory dimensions

JSK2/JSM2 Series common accessory dimensions (rod eye, bracket, pin) %
@ Rod eye (1) Material: Steel @ Rod clevis (Y) Material: Steel %
CDwno cas: Zinc chromate CDwo cws Zinc chromate ox
treatment treatment sTM
—~ oT —~— OF STG
\\ = \\ = } F STSISTL
< -
5} @ J STR2
- S < UCA2
S o ninl o © ULK*
A éi W JSKIM2
JSG
KK/ | CH,| KK/ |.CH CL 153154
USSD
UFCD
Model | Applicable Wt Model | Applicable Wt 7USC
CA|CD|CH|CQ MA|MC CA|CD|CH|CL|CW MC Boi-d_ S
bore size (mm bore size (mm uB
M1-1-20 M8x1.0 M1-Y-20 M8x1.0 JSB3
M1-1-30 | 25/30/32 | 14 | 36 | 12 | 25 | 10 | M10x1.25| 16 | 12 | 106 M1-Y-30 | 25/30/32 | 20 [ 36 | 12 | 25 [ 25 | 10 | M10x1.25 | 16 | 12 | 197 %
M1-1-40 40 14 136 [ 12 | 25 | 10 | M12x1.5 | 16 | 12 | 100 M1-Y-40 40 20 (36|12 (25|25 |10 |M12x1.5| 16 [ 12 | 193 |
Material: Steel Note: A pin, a washer and a split pin are attached. HCA
@ Clevis bracket (B2) Zinc chromate @ Rod clevis pin (P) Material: Steel ILBC
treatment ) |CAC4
Zinc chromate | ycac?
50 30 A treatment [CAC-N
5, 20 UCAC-N
32 7 #CDss 4.5 EL T RCS2
T ‘ RCC2
T i <Is PCC
] | 1 7 B [P gl B I R
cD % 1 N : # €z\ ® Sy ® 7SHC
0 i 0 T i MCP
q 2-gD GLC
| 8 20 4 [ oLy
< 8 g H——— -~ ol MFC
rRMR R3.5 < ) / BBS
| ~| RRC
[ o BAA
8 = [GRC
RV3*
NHS
Applicable Weight Applicable
Model No. |Compatibility| """, cD 9 Model No. | """ colec| 7| x|y [HRL
bore size (mm) (9) bore size (mm) LN
M1-B2-20-CC 20/25 8 8 145 M1-P-20 20 37 4 10 | 28 | 1.6 [105| 18 | 29 %
] u
M1-B2-30-CC JSK2-CC 32 10 11 163 M1-P-30 |25/30/32/40| 46 4 12 37 | 25 | 125 22 50 MecHnd Chuk
M1-B2-40-CC 40 12 1" 170 Note: A pin, a washer and a split pin for rod clevis use are attached with the ShkAbs
M1-B2-20-CA |  JSK2-CA 20 10 11 158 product. FJ
M1-B2-30-CA | JSM2-CA 25/32/40 12 1" 162 SprCT
M1-B2-20-TA | JSK2-TA/TB 20 8 8 132 [ r=errey—
—_— Endin
M1-B2-30-TA | JSM2-TA/TB 25/32/40 10 11 142 g
*1 : One pair is composed of two pieces with XY symmetry.
*2 : The model No. above includes snap rings and pins. 2 pieces are included in a set.
(However, the pin and snap rings are not included with the trunnion.)
*3 : For mounting TA, this cannot be attached to the brake section with cover (U).
@ Clevis bracket pin (P1) (P2) Material: Steel
Zinc chromate
A treatment
0.9 % B 0.9"%
i o
218
Compatible model Applicable
Model No
" |and bore size (mm) snap ring
M1-P1-20 |JSK2-CC-20/25 E type 7
M1-P1-30 |JSK2-CC-32 33 28 10 9 E type 9 21
M1-P1-40 |JSK2-CC-40 37 32 12 9 E type 9 32
JSK2-CA-20
M1-P2-20  |yaNsoa0 25 | 20 | 10 | 9 | Etype9 | 16
JSK2-CA-25/32/40
M1-P2-30 JSM2-CA-30/40 27 22 12 9 E type 9 24
Note: A pin and snap ring for bracket use are attached with the product.
(However, the pin and snap rings are not included with the trunnion.)
CKD





